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Sales  Floor  Parking
160 250 720
156 235 960
146 220 430
153 265 350
128 200 530
161 240 840
150 210 600
125 215 320
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> sample=read.csv("sample.csv", header=T)

> sample

No Sales Floor Parking
1 X 1€0 250 720
2 2 156 235 960
3 3 146 220 430
5 4 153 265 350
S'S 128 200 530
6 € 161 240 840
T 7 150 210 600
8 8 125 215 320
>

— v

3. WRIEAETIE Y L 2 R L CRlJRE R & i <

R RGui (64-bit) - [} X
I RE BE o (vr-Yy  9MUFY ALT

E&SCRREEE

QR R Graphics: Device 2 (ACTIVE)

> summary(resultl)

Call:
1m(formula = Sales ~ Floor, data = sample)
o
Residuals: 0
Min 1Q Median 3Q Max 0 - o
-15.951 -7.260 3.111 6.803 11.284 » -
R — o

Coefficients: % g _ o

Estimate Std. Error t value Pr(>|t]) ‘3 -

(Intercept) 44.8684 41.6723 1.077 0.3230
Floor 0.446€9 0.1810 2.470 0.0485 *

Signif. codes: 0 ‘***’/ (.00l ‘**’ 0.01 ‘*’ 0.05 *.” 0.1 * ' 1

Residual standard error: 10.51 on € degrees of freedom
Multiple R-squared: 0.5041, Adjusted R-squared: 0.4215
F-statistic: 6.099 on 1 and 6 DF, p-value: 0.04848
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Coefficients:
Estimate Std. Error t value Pr(>|t])
44.8684 41.6723 1.077 0.3230
0.4469 0.1810 2.470 0.0485 *

(Intercept)
Flooxr
Signif. codes: 0 ‘***’ 0,001 ‘**’ 0,01 ‘*’ 0.05 *.” 0.1 * " 1
Residual standard error: 10.51 on 6 degrees of freedom
Multiple R-squared: 0.5041, Adjusted R-squared: 0.4215
F-statistic: 6.099 on 1 and é DF, p-value: 0.04848

> plot (sample$Floor~sample$Sales)
> abline (resultl)
> help("abline")
starting httpd help server ... don{
> abline (resultl)
plot (sampleSFlooxr~sample$Sales)
plot (sample$Floor~sample$Sales)
abline (resultl)
plot (sample$Sales~sample$Floor)
abline (resultl)

sample
summary (resultl)

jpbline (resulcl)
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resultl=lm(Sales~Floor, sample)

plot (sample$Sales~sampleSFloor)

QR R Graphics: Device 2 (ACTIVE)

sample=read.csv("sample.csv", header=T)
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> result2=lm(Sales~Floor+Parking, sample)
> summary(result2)

Call:
1m(formula = Sales ~ Floor + Parking, data = sample)

Residuals:
8
0.4998 -5.3255 7.5483 -0.5049 -5.8286 1.5660 10.0106 -7.9656
Coefficients:
Estimate Std. Error t value Pr(>|t])

(Intercept) 38.51963 30.09269 1.280 0.2567
Floor 0.39154 0.13200 2.9¢66 0.0313 *
Parking 0.03208 0.01250 2.566 0.0503 .

Signif. codes: 0 ‘***’ (.00l ‘**’ 0.01 ‘*’ 0.05 *.” 0.1 * ' 1

Residual standard error: 7.562 on 5 degrees of freedom
Multiple R-squared: 0.786, Adjusted R-squared: 0.7003
F-statistic: 9.18 on 2 and 5 DF, p-value: 0.0212
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read.csv("sample.csv"”, header=T)
sample

resultl=lm(Sales~Floor, sample)

summary (resultcl)

plot (sample$Sales~sampleSFloor)

abline (resultl)
result2=1lm(Sales~Floor+Parking, sample)
bummazy (result2)

ATy samplel.csv
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0.03208 0.01250 2.566 0.0503 .

Parking

Signif.

codes: 0 YEsRr G001 &Y Q.01 Y*7 0.05 Y.¥ 0.1 YY1
Residual standard error: 7.562 on 5 degrees of freedom
Multiple R-squared: 0.786, Adjusted R-squared: 0.7003

F-statistic: 9.18 on 2 and 5 DF, p-value: 0.0212

> samplel=read.csv (samplel.csv, header=T)
read.table (file = file, header = header, sep = sep,
FIV1Db tsamplel.csv' HHOFEA

> samplel=read.csv("samplel.csv", header=T)

quote = quote,

sv ("sample.csv", header=T)

les~Floor, sample)

tl)

ales~sampleS$Floor)

1)

les~Floor+Parking, sample)
t2)

TI3S
csv("samplel.csv", header=T)

> samplel
No. Groupl Group2 Group3 Group4

1 1 34 18 21 87

2 2 18 57 €3 18

3 3 24 20 52 50

4 4 25 19 25 8s

5 5 30 1 14 84

€ € 33 23 59 46

& 2 2 29 32 82

8 8 15 23 44 43
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[1] 9.407444

Rotation (n x k) = (1 x 1):
PCl

1 1

> pca=prcomp (samplel([,2:5])

> pca

Standard deviations (1, p=4):

o

[1] 33.625858 11.594688 7.044486 5.807084
Rotation (n x k) = (4 x 4):

PC1 PC2 PC3 PC4
Groupl -0.0791225 0.6180439 -0.77044487 0.1348189
Group2 0.3775708 -0.7073561 -0.58428471 0.1252959
Group3 0.5235288 0.1784948 -0.05603087 -0.8312146
Group4 -0.7596693 -0.2929314 -0.24877022 -0.5246019

> summary(pca)
Importance of components:
PC4
33.6259 11.59469 7.0445 5.80708
0.8385 0.09969 0.0368 0.02501
0.8385 0.93819 0.9750 1.00000

Standard deviation
Proportion of Variance
Cumulative Proportion
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sample=read.csv("sample.csv", header=T)
sample

resultl=lm(Sales~Floor, sample)

summary (resultcl)

plot (sample$Sales~sampleSFloor)

abline (resultl)
result2=1lm(Sales~Floor+Parking, sample)
summary (result2)

samplel=read.csv("samplel.csv", header=T)
samplel([,2:5]

pca=prcomp (samplel[,2:5])

pca

]sumaxy (pca)
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> pca=prcomp (samplel([,2:5])
> pca

Standard deviations (1, .., p=4):

[1] 33.625858 11.594688 7.044486 5.807084

Rotation (n x k) = (4 x 4):

PC2
Groupl -0.0791225 0.6180439 -0.77044487 1
Group2 0.3775708 -0.7073561 -0.58428471 1
Group3 0.5235288 0.1784948 -0.05603087 -0.8|
Group4 -0.7596693 -0.2929314 -0.24877022 -0.5
> summary (pca)
Importance of components:

PCl PC2 Pq
33.6259 11.59469 7.044
Proportion of Variance 0.8385 0.09969 0.03¢§
Cumulative Proportion 0.8385 0.93819 0.975
> rownames (pcaSx)=samplel[,1]
> rownames (pca$x)

[1] "1m wam m3m mgw wgm wgm wgw wgw

> plot (pca$x)

> l:ex:(pcan, labels=rownames (pca$x), pos=1l)
>

Standard deviation

g = - RI
sample=read.csv("sample.csv", header=T)
sample

resultl=lm(Sales~Floor,sample)

summary (resultl)

plot (sample$Sales~sample$Floor)

abline (resultl)
result2=1lm(Sales~Floor+Parking, sample)
summary (result2)

samplel=read.csv("samplel.csv", header=T)
samplel([,2:5]

pca=prcomp (samplel([,2:5])

pca

summary (pca)

rownames (pca$x)=samplel[,1]

rownames (pca$x)

plot (pcasx)

text (pca$x, labels=rownames (pca$x), pos=l)
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